3750 10 10
100 185D 960 1840
(240%4)
o~ o
N —
500 500 500 632.5 1207.5 3 _ :
o~
8 g - ®
(==l
o
- 4 =
0 = =
135 135 S
13 I Il il | o[ -
= = | )
270 \\
- = — )= o BPL-6X270X100
s 2 s 2 < S
2 = = e = - AABOLT 1-Mi6
w — i} ~N
1F %
[/v\\\l 14 15 16 17 18
1225 AN Il Il l L 0 o N o
o
Il It w1 1 v 17 11 1 1747 174 °1I R
N 13 12 1 10 9 8 7 6 5 4 m —
o
x - | o B #RE¥HIRE $=1/10
~ 8 = = S
B C
e [ T O Y om0
-+ Bl o o 100 L-90X90X10
162 = 5 200 1320 340 1680 1310 HTB 216
102 (240XT)
1600 2880 = \@
o
1F T TE $=1/30 >
900 (240X12) 170 PSP / =
=t
100 1660 632.5 1207.5 e
500 500 56
2 2
7 7 1207.5
1c1
2614
! 1157.5
0 N 4 D EREHHEE $=1/10
/ —
0 205
75 ole [l Il IR L»_\_ [l oo ——— o
— 29 0 =
) | il )
3 T s ﬁ-@ g N o
= = = W =2 35 2 N
= 2 m it . \VAL == ) 5
pnir) o~ [
7 S seas L - T sic 363-C
14 15 16 17 18 |_
127 o Il l /1 | | | [ ———= o 10 2160 = 1070 30 PL-6
e q4—— = _ H-200X100X5. 5X8 10 go—9—9 30
1470 == I il L__ __\ | | | | | | TER ] 1600 R 187.5 240X - 5 8 HTB 2-Mi6
L - -t
b N 2 2| ® | s |m |z |2 |a | o K| = m «© 12 - H-250X125X6X9 =g
_ M 30 |_ = PL-9
|
M N nn\w Lo 2 — 1 erlﬁ_
2 - . _ 2 " - 7
= = > H S [ h h B ¥ ® =
= = _H H_ - s o | = 1 ey o]l s o N @O
= I=3 B = ~ = (& o
= AR « | F (=] / «©
o -t Lo -t @
S =2 == = 1|\L [=3
N e 3B4-B =
2670 L1 L 2800
313 — - 1l Ll | N | S | | | O [ (.
2955 :
I P _ T =~ - L-65X65X6
_ T _ _ o 1850 9 7 |30 DA e HB 2-Mi6
23 -« 40X4) L ==
1C2 < =
-t =]
= 1500 100 w =
RS 5 _
1420 2160 1070 ' F &REFHA $=1/10
900 240X9) 2F PSER X $=1/30 —
_
_— T
100 1660 1680 1310 \WAESE N M .
(240XT) 8
102]5 1207.5 oaaAp == ~| s
~ ><
E 2C1 7 m =3 M
© —
3614 _
IJ_f = - - \  H-250X125X6X9
|
- = 4 2B4-B
S [ [ L L L L I (N [ 22 -
1 = H-200X100X5. 5X8
ll E
\ ﬁ||; 3| g z 187.5
= = = S = s S |
s = s = = w NE
N N 2 = S| F
1320 ‘H o S g
o~ ~
29 30 31 e 24 33 A 35 36
ag I I | O O { N O OO 11 o
/ 2
1] |1 [ m 0 1T 1 | — s
28 27 2% 2% 2 o~ m
7 ¢
=
[aa]
” s 7 ﬁ@ 8 8
) ’ il )
| 0 _\ 1600 2580
+ — | — | -] = w X0 @12 170
| [ P | o
o
5
- 3635 R R BT ) §=1/30
SFFEE: T mE $=1/30
% E kS B £ A B % X HTBRXS MERSE & R - e THEH
mie + BOR295 O . bm_l
R I N hsw ENHKL
. = TR e -
w22 X 3400 N Toh—T5 B X
M4 @ w R 1/30 | # = # A B




